HC107
Made in Taiwan SR E
Installation Instruction



P1

THEH R THH4EB THEHHAEE
Part No. Part Name Part Qty.
: SARAE :
Desk set
5 EEE :
Keyboard set
M
3 Column ]

JES B
4 Base ]
£
S B £ 6

Plastic Mounts




e IR BEHiRiR BHEgE HAE & =
Package No. Part No. Part Qty. Description Image
1/4"*19mm 2R BRI 44 \‘
A A-1 6 1/4"*19mm Wood Screw ‘
B-1 6 M6*15mm A< AR #% \\\\\\\\\
B M6*15mm Hex Socket Screw %
B M6 [ ZE 5 .
B-2 6 M6 Washer @
B.3 1 4mm ABIEF /
4mm Allen Wrench
N H
M8*30mm P £ R 4% )
C-1 4 M8*30mm He/x\Socket Screw f@\\\\\\
c \
5mm ASAIRF
C-2 1 5mm ,/A?Ien Wrench /
XEBRTFIREKE T

% ADDITIONAL TOOLS REQUIRED
Phillips Screwdriver

P2



TR— FATFRHGEFEA)IEOBBEABREEORRE L.

Step 1 : Use phillips screwdriver and (A-1) Screw to fix @Keyboard set
and @®WDesk set together.

SR EAB-3)RNARF. B-1)RHUAKXB-2)FHEFILOULEEEORKTE L

Step 2 : Use (B-3)Allen wrench ,(B-1)Screw and (B-2)Washer to fix ®Column
and @WDesk set together.

— FHAB-3TE
— B-1 USE B-3 TOOL
= 1 —B-2
. 2y
. =" [ I &
4 IS = J:D
[ BV

P3



FR=  FRC2)ARARFHEC)BEKIEORKREEEE®ILFE L,

Step 3 : Use (C-2)Allen wrench and (C-1)Screws to fix @Base and ®Column
together.

C-1(4)

EHC2ITE
USE C-2 TOOL

r

O8

SR IEORNBREHEGKEE,
Step 4 : Lock ®Plastic Mounts with @Base together.

P4



SBRA EREFIUR , SERESE,
Step 5 : Stand up the table, complete the assembly.

FHEEIhEE :
RBRIEFHTARREE , JFEENSERZBRENTEE,

Height Adjustment Function :
Press the handle to raise or lower the desk.
When it reaches the desired height, release the handle to lock it in place.

P5







EREERHOERLT

BE AP T REE S — 5265
Tel:886-4-25679181 Fax:886-4-25669582
H—HmaE - 80112978

Website: www.cdgreat-officefurniture.com

C.D. Great Furniture Co., Ltd.
No.526, Sec. 1, Shenlin Rd., Daya Dist., Taichung City 428, Taiwan.
Tel:886-4-25679181 Fax:886-4-25669582

Website : www.cdgreat-officefurniture.com



	FRONT
	工程視圖1

	P1
	工程視圖3
	工程視圖4
	工程視圖5
	工程視圖6
	工程視圖7

	P2
	工程視圖42
	工程視圖43
	工程視圖44
	工程視圖46
	工程視圖47
	工程視圖49

	P3
	工程視圖8
	細部放大圖 A (1 : 4)
	工程視圖17
	細部放大圖 C (1 : 2)
	工程視圖52

	P4
	工程視圖13
	工程視圖19
	細部放大圖 G (1 : 4)
	細部放大圖 H (1 : 8)
	工程視圖53

	P5
	工程視圖21
	工程視圖39
	工程視圖40
	細部放大圖 F (2 : 5)

	P6
	BACK

